Christmas Numbricks

FILL GRID WITH THE MISSING NUMBERS FROM 1 TO 64 AND MAKE A CHAIN OF
CONNECTING NUMBERS THAT FORM A CONTINUOUS PATH. THE NUMBERS MAY
CONNECT BOTH HORIZONTALLY AND VERTICALLY, BUT NOT DIAGONALLY.

39 50 | 53 58
41 | 48 55 | 56
42 | 47 10 | 61
36 7 |12 63
35 6 | 13 1‘!’
29 | 28 3 |16
30 | 27 2 (::)
32 25 | 22 19
39 50 | 53 58 31 62
41 | 48 55| 56 29 36 | 37 60
42 | 47 10 | 61 26 | 25 | 38 | 57
36 7 |12 63 22|23 | 24|39 40|53
35 6 | 13 1‘:’ (::) 2| 3| 441|352
29 | 28 3 | 16 13065 |4
30 | 27 2 (1) 18 718 47
32 25 | 22 19 16 45

copyright:  www.mathinenglish.com



Answers

FILL GRID WITH THE MISSING NUMBERS FROM 1 TO 64 AND MAKE A CHAIN OF
CONNECTING NUMBERS THAT FORM A CONTINUOUS PATH. THE NUMBERS MAY
CONNECT BOTH HORIZONTALLY AND VERTICALLY, BUT NOT DIAGONALLY.

39140149 |50 | 53 | 54| 57| 58

38 (41|48 |51 |52(55]|56] 59

37 (421471 8 | 9 | 10| 61 | 60

36 (43146 | 7 |12 (11|62 63

35(44 145 6 | 13| 14 15

341291281 54| 3 ([16(17

33 (3027|2423 2@18

32(31]126125122(21|20] 19

39140149 | 50 | 53 | 54| 57| 58 30 [ 31 [ 34| 35 63 |62 |61
384148 |51 |52|55(56| 59 29 13233 (36|37|58]|59]60
3714247 8 | 9 (10| 61| 60 28 |27 [ 26 [ 25 | 38 | 57 | 56 | 55
36 143146 | 7 | 12| 11| 62| 63 21 122123 (24 (3940 | 53|54
35(44 (45| 6 | 13| 14| 15 20 @ 2 13| 4 [41]52]51
34129128 5| 4|3 (16|17 1914113 6 [ 514214950
3313027124 |23( 2 @ 18 18| 15|12 | 7 | 8 |43 |48 |47
32 (3126251222120 19 17116 |11 [ 10| 9 |44 | 45| 46
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